685 TN(FIT) QUESTION A
AR TIhR/Government of India
37aRker fa#mT/Department of Space

BOOKLET CODE
ol
Taiiisre
FCIGICG R MG §T€ILIQUID PROPULSION SYSTEMS CENTRE

afergder @ 31, fagasiaqiA/Valiamala PO, Thiruvananthapuram - 695 547

deaRad’ (RreT) & g & 99+ g ff@a aden
WRITTEN TEST FOR SELECTION TO THE POST OF
TECHNICIAN ‘B’(FITTER)

feaie/Date: 04.03.2018
3Tad#d 3dH/Maximum Marks: 300 FAI/Time: 2 ©e/hours (1000 ©¢/hrs to 1200 ©e/hrs)

¥t &7 AA/Name of the Candidate: sHATR/Roll No.:

It & e JraTaer/Instructions to the Candidates

1. mf@@ﬁ@fawm#qﬁmﬁ’maﬁmamnammm%ﬂtﬁéﬁﬁﬁwaﬁ
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2 feT-aee e #F AR garr R 10 sy & 3R W fAf@a ofer & Qv gemr @ g afg
YT IMAEA ¥ T ®T F RAT & A gAR QAN F NUR W @G degar wg § ar 3oy
3r3af¥ar ® &7 Swell/ Candidates have been called for the written test based on the data furnished by
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3. qfierr gfer & dets & 3ufRUy & & 93w FE/AEaE d gEARR T aifgu/Candidates should
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4. maq?rnmfrfr@raa-?rwmamt(m)@?ﬁlmﬁ%méﬁ%ﬁvmﬁmaﬂnﬂm
e fear Srar &/ The question paper is in the form of Question Booklet with 75 questions. A separate
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9T fora= mﬁWQuestlon Booklet series code (A/B/C/D/IE) printed on the right hand top corner
should be written in the OMR answer sheet in the place provided.

et @ AT A R FASE Fa)) T Gadr # fa@er arfgv/Candidates should enter their

Name and Roll Number in the Question Booklet.

INTAIR 3ccR Giecshr dr i gfafSeat a7 Ao/ dfc dige U7 ¥ &7 =T arfgU/All entries in the
OMR answer sheet should be with blue/black ball point pen only.

faf@a olem g+ 9e & v Puiia degar & 3R ), aEged Y6R & IR 3Rk gad, oad
AT TH 8T grase g3/ The written test will be of objective type based on the qualification prescnbed for
the post with four answers indicated, of which only one will be unambiguously correct.

mﬂaﬁaﬁmwﬁaﬁmmm%ﬁ%vﬁé&m:ﬁmﬁw%ﬂam
NTANR Me & ISR & H A& AT AR/ Candidates have to select the right answer by
marking the corresponding oval on the OMR answer sheet by blue/black ball point pen as per the
instructions given in the OMR answer sheet.

Tl ol & AT IR 37 Q9T, 3R o 8 W YT 3F 3N TF T 37 Toh I 3cck F [AT/All
questions carry four marks each, zero marks for no answer and one negative mark for a wrong answer.

gdd U & fw dgel 3cc¥ el 3ea AT See/Multiple answers for a question will be regarded as
a wrong answer.

NUAIR F A 3 e § e arfew| faled NvAIR fe 78 fGar srwem/Marking in OMR

may be done with utmost care. No spare OMR sheet will be provided.

gl gfer F FFgey, Fodacd, A B, Geiidy fFaW, araiufas e, sdaaci@e messed
nfe @ &r WLZ-T ar éf Sreaf/Computers, Calculators, mobile phones, reference books, logarithm
table, electronic gadgets etc. will not be allowed inside the Examination Hall.

e Gfedar & 3UesY SH9g ded FAAlG & fAU 39T fHAT ST FehdT g/Space available in the Question

Bookiet can be used for rough work.

e Y FART ¥ @, NTHHR e F A amr A RDgar A F WY w3 A e AR FqT
eI ofie Prders #t o aife ik sgfaf st & 9@ T@eT TRWON completion of the test,
tear the OMR answer sheet along the perforatlon mark at the top and hand over the original OMR
answer sheet to the invigilator and retain the duplicate copy with candidates.

qdET & g & 37 °©E & SRIeT GNET it F & el & A S v AT gl g/Candidates are

not permitted to leave the Examination Hall during the first one and a half hour of the examination.

gt S 1150 6 & a1g gdeT gfd & Al S §, 306 WA YRdadr A A @A HOIEFA

&/Candidates leaving the examination hall after 1150 hrs will be allowed fo retain the Question Booklet.”
qfem & @i, 3l @ NuEIR M IR gyawad Adere @ &ar @ifgwAfter the Examination,

candidates should hand over OMR Answer Sheet and Admit Card to the Invigilator.
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WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICIAN ‘B’ (Fitter)

V sl 7 AIFEATSIT YT HlT-AT §2/What is the included angle in V Blocks ?

(a) 45° (b) 90°
(c) 120° (d) 60°

g6 qc—cﬁ F =g a3 ?T:I)' TIFT 3R HieT-ar £2/The tool, which is used for laying out
large circles is

(@) SIH/Trammel (b) f3arss/Divider

() Sy EI"TI'%‘ZI'{'/Jenny Caliper ©(d) Toha/Scriber

T 500 IT. gUlsT & foIw glsr gifese 6t oarS oomser — 81T A1f W/ The length of the
hammer handle for a 500 g hammer should be about

(@) 275 mm (b) 300 mm

() 325mm (d) 350 mm

AT HTY %‘q, Uhagagy —— &y Fars W AuiRa e g/For general purpose, a
bench vice is fixed at a height of

(@ 80cm (b) 90 cm

(c) 106 cm (d) 125 cm

fArIfaf@d & 3 yczet AT9sT 3Uaor HIF-A7 &/Which of the following is a direct measuring tool

(a) ;‘Ié FFITY/Try Square (b)  TreT Fol/Steel Rule
(c) ¥¢ST USSI/Straight Edge d)  RerIIS/Ring Gauge

& HATIT %'{-)r T8 T 9qsd &d g/Try square is used to measure

(@ g FIT/acute angle (b) H’J:ITﬁUT/right angle
(c) m‘\ﬁ FIT/obtuse angle (d) QFDEI' I Eﬁé’ #ei/none of these

feRR g gIgTae & g dH Sh13Us SIT-TT §/The least count of vernier bevel protractor is

@@ 1’ by 5
() 10 (d) 25°

3 685 TN(FIT)



10.

11.

12.

13.

14.

TS 50-75 mm 3T3CHSS AGHIAI & LT UTSdTeh Hiet-AT &/What is the zero reading of a
50 — 75 mm outside micrometer

(@ 0.00 mm (b) 0.01 mm
() 25.00 mm (d) 50.00 mm

AfeH H3caES ATSHIAICT T U 922 feufeea & forass ™ gar &/Metric outside micrometer

has a threaded spindle with a pitch of

(@ 0.5mm (b) 0.25 mm
(c) 1.00 mm (d) 0.05 mm

wmgﬂ:ﬂa#o.omma?ﬁwaag%%laangaﬁﬁam.%mmmmmuﬁqm

T 81T /A micrometer has a negative error of 0.03 mm. What is the correct reading when the
micrometer measures 40.48 mm

(@) 40.15 mm (b) 40.51 mm
(c) 40.45 mm ' (d) 40.59 mm
e FroR AT ———— %?:DT agFd FT 8/A feeler gauge is used for

(@) T & T ERTTIT Y AT /adjusting the parts for play

() AfET gﬁﬁ' & 39 U HTA/checking gap between mating parts
(c) ST & f35ar I aa/checking radius of jobs

@ 3 WEHT Ak F¥at/checking accuracy of holes

ColaT AT & I TEE & SHET ——— & FHIT 819/ Go’ side of the plug gauge will have
the diameter equal to

@ SEH arEdide 31Tk /actual size of the job

(b) TS & FHeT HTHR/ basic size of the job

() Sgh eI H HTehR/minimum size of the job

d SNe & IHTA 3SR/ maximum size of the job

AfreTor FAx F A Y R FATS a9 H !;’Ifa'c"f T@A &/At what standard temperature are the

gauges kept in the inspection room

(@ 10°C (b) 20° C
(c) 10°F (d  30°F

e A AT Fr Qﬁ'Qola dl @FIT %’/The accuracy of a reference gauge is

(@ 0.05 mm (b) 0.01 mm
(¢) 0.001 mm (d) 0.0001 mm

4 685 TN(FIT)



15.

16.

17.

18.

19,

20.

f&AT AT Y FORAT ——— §laAT A1fgU/Hardness of Slip Gauges should be

(@) 63 TIRAT & FII /more than 63 HRC
(b) 58 TIIRH/HRC
) 55 TIARH/HRC
d) 50 TIIRA/HRC

ARG ATh! & AR, T AT & fafrse de ggad XA & ST@d @us /AT §/As per

Indian Standards, a special set of slip gauge is used consisting of

(@) 81 WUS/pieces (b) 112 @US/pieces
(c) 120 @WUS/pieces (d) 130 @WUS/pieces
$ROT & TATAdH THTET GX —— UGl hidl/The lowest possible rate of feed will give

(a) 3TTOT Tdg YRSHR/good surface finish
(b) FEIH Tdg IRSHR/medium surface finish
(c) hHHdg cI‘ﬂ'ﬁFlT/poor surface finish

(d) gmfr @Eﬁ'sf' Ffﬁ'ﬁ'/none of the above

T M12 x 1.25 92 Uh UH UG S I FHIe FLT 511.25 Fa1 [Afese F:Ia1 8/A thread M12 x 1.25
is to be cut on a M.S. Rod. What does 1.25 denote?

@ YSHr TI%TTé'/depth of thread

() U3 FraisS/width of thread

© YsFHT= < /pitch diameter of thread
d) 23 % WA/pitch of thread

M10 x 1.5 9T &Y gl 3T ¥ FIC e & [T o9 3 g & R F1 ERE(UT T 3UIET

&Y)/What will be the size of a tap drill hole to cut M10 x 1.5 thread with a hand tap (Use thumb
rule)

(@ 9 mm (b) 8.25 mm
(¢) 8.50 mm (d) 9.25 mm

m@aﬁﬂ-mmqa‘aﬁmﬁﬁwésmmaﬁaﬁwﬁmmaﬁ%wmch one of the

following metals does not require any coolant during reaming?

(a) W/Aluminium (b) FHIEC HYA/Cast Iron
(c) draT/Copper (d)  SEUTd/Steel
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21

22.

23.

24.

25.

26.

ST IR Ta 3@@%‘&? & o HQ:@H ofrder hlA-AT §/What coolant is recommended for

tapping Copper or Aluminium?

(a) HATAA/Kerosene (b) dre 3el/Lard Oil

(c) TSI STel/Soda Water (d) QJ"GH;/Dry

T 3% S U Teeh % QU7 gt Y AE Fell §3N &, 3 ———— T /A hole which is not
made through full depth of the component is known as

(a) @R f&g/core hole (b) soleg f&g/blind hole

) e &%/pin hole d) &R &%/bore hole

T ISl o hled FRAS ——— W 3ea &/The cutting action of a file depends up on

(@) A & TP T4 &Idl & 37a0T/the kind of cut and spacing of teeth
(b) IS H ardl & fa=ard/arrangement of teeth on the file

©) WISl & 3THR Tq BHT%/size and shape of the file
(d) B'Q'{i'a?f T#l/all of the above

cfare Ba s HET AT & H’q‘\U‘f a1 H Yeed @l bl —————— gd &/The grooves provided

on the entire length of the body of twist drill are called
(a) forc@/lips (b) e[/ flutes
(c) &I iﬁrﬂ/margins (d) Jsd/webs

— 3 Fnfoler & fAT gfd ket Wrsel 9o d &Td g/The double cut file is used for filing on

(@) TSS/wood (b) @S ars/hard board
(c) dHST/leather ' (d) STUTA/Steel

T (6H; e Teh Tl gk G 7 A7 LG8 frg TR & T3 31T B41/A ¢6H; hole is to

be reamed in a steel work piece. What size of drill will be required?

(@ 5.5mm (b) 5.8 mm
(c) 6.0 mm (d) 6.2 mm
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2.

28.

29,

30.

31.

32.

TEEET der S & AT fRE YR & W GYFA P ©/Which one of the following
materials is used for making a grinding wheel?

(a) TafcresT F1eIg8/Silicon Carbide (b) TS/ Granite

) Id/Sand (d) mmmalcium Carbonate

AT 1 %Fj; T glaEe 5o & ﬁg 10T 81T &/The point angle of a twist drill for general

purposes is

(@ 135° (b) 118°
() 90° (d) 120°

W%%@Wﬁﬂ%@g%%ﬁﬁ@ﬁ%%@mﬁqﬁm—-—

Fed &/The process of enlarging the end of an existing hole to accommodate the head of socket

screw is called

(@) FTWIT %{A3T/spot-facing : (b) SR3T/boring

(c) FT3eT S¥3T/counter-boring (d) Fr3eX fAfRaT/counter-sinking
w%wwmﬁmﬁmmﬁmﬁ_ﬂm@m distance
a drill advances into the job in one complete revolution is known as

(a) IRYITH/r.p.m (b) e ITfd/cutting speed

(c) AOT/feed d AT Ifa/machine speed

$70T & 2T —— O 3T &/The rate of feed depends up on

(@) 3mafErd fopfarer/finish required

(b) FueRoT(fZer) ST ArHHAN/material of tool (drill)
© B &3] T AT/ material to be drilled

(d) JGHVall of these

37-1'351 a fﬁ'ﬂ? ITEYE isT-TT &/Which among the following is an artificial abrasive?

(a) Hﬂﬁﬁ-’fﬂﬁ 37183/ Aluminium Oxide
(b) THY/Emery

(c) gR1/Diamond

(d) HRe8H/Corundum
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33.

34.

35.

36.

37.

38.

T 315 AT g 8T oifehal/A die nut is nothing but

(a) Tehac Sl STH & 3gATT A Blois/a nut forged by using dies

(b) T AC & AR # U 31%/a die in the shape of a nut

(c) SIg Tl H 318 Fl FT & fIT Uk Ac/a nut for tightening the die in the die stock

(d) 7T 7 22t &Y e FIA & falv qged gfé'/a die which is used for cutting threads in nuts

T qIfeT Bgel ——— & GHTA &/A warding file is similar to

(a) UEITC FISel lfehed T1STS H TehHATA/flat file but uniform in width
(b) &les BISel Afhet a‘?a%’ # HhToT/hand file but narrow in width
(c) TrellC WIgel AfeheT uaTaT # faTdeh/flat file but thinner in thickness

d) T BIse dfhed TUadT H faersh U9 TsEHA/flat file but thinner and uniform in
thickness

arsfesar Al # FTUROTAAT & dleal 378 A HiI-AT &/Which one of the following bonds is

most commonly used on grinding wheels?

(a) AfeHISS/Vitrified (b)  I&3/Rubber
(©) reAtan/Shellac (d) fafarehe/Silicate

YRS dfrs ¥ fIT TWORETd &9 d TJad Sclieh AT g/The symbol conventionally used for
resinoid bond is

(a) 3 V E] (b) 3 R b)

(C) < B 2 (d) < E 2

wmﬁﬁmwﬁwﬁﬁwﬁmmﬁ%f@ goTd O FIF-HT Fie AT §/For

cut‘ung an aluminium block to smooth finish, which one of the following cut of file is most
suitable?

(a) Uehol SIC/Single cut (b) aj%’ hrc/Double cut
(c) &Y hIc/Rasp cut (d) a:c?ﬂ'e:r hlc/circular cut

Teh gles {5, Th 7N TR & $A =T giar &/How does a hand reamer differ from a machine

reamer?

(@ hdled HRI & forw a;g-c[éa?vr Ig/larger bevel lead for the cutting edges
(b) e a1 & 3778 A&AT/more number of cutting teeth

(c) hdled 2Tdt T A F&AT/less number of cutting teeth

(d) Shdled FRT & 3TTATT 3Iad0T/unequal spacing of cutting edges
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39,

40.

41.

42.

43.

Ueh ATSTe5aT dTel oh Heed AT &/What is bursting of a grinding wheel?

(@) YH gl ¥ uga drall ¥ 39uf¥a I 918X AT SATAT &/Abrasive grains falling out of wheel
before they are dulled
() AT F@ﬁﬂ' el &/The wheel is not properly balanced

() g efcash Ul s Tsh Holeh bl AT fot ea&a far Srar g/Clogging of
wheel face with small metal particles being ground |
(d) Teh IMSTesaT diel & el q1eat GeATAA bl UfshAT/The act of restoring the cutting faces of

a grinding wheel

E'Jlsia-g.al F dIc deh N H AR ATy Bl T HRUT gidl 2/What is the reason for chattering
marks on work piece after grinding

(a) 379ATCT eNdeh/Insufficient coolant

(b) FI gag vd I gt & 9 3% gY0T/Too much friction between work surface and

wheel face
(c) drer FBafessr & $Usi/Vibration on wheel spindle

(d) dreTH 3-17:131%[?-[ 3f&3T/Improper dressing of wheel

e 2010925 ug 9moe 20 € 0127019 &5 g & 3TETH FelIed/The maximum clearance between
hole 20" and shaft 20 © %>/ %19 s

(@ 0.165 mm (b) 0.155 mm
(¢) 0.175 mm (d) 0.185 mm

T ¥RET & [FAT 25+0.03 & T & 3TH<Tea 31 &1 EIdr A7 8IA1 8/ A dimension is stated

as 25+0.03 mm in a drawing. What is the tolerance?

(@ +0.09 mm (b) +0.03 mm

(c) +0.06 mm (d) -0.03 mm

RO 3R IRATATAT ——— F AT 9gd Fd §/Interchangeability is normally
applied for

(a) g\_rﬁ & ATFAT & foT/Repairing of parts

(b) HRT WIgaFeUA/Mass Production

) T&9rer AT Uise2r=1/Single piece production
@ & FAI of these
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44

45.

46.

47.

48.

49.

gTel 9 f&TeH #H/In hole basis system

(a) QATFE T TR FEAR §IAT §/The size of the shaft is made constant
(b) g T 3R FEUT 81aT 8/The size of the hole is made constant

© &g va amre & U 910 3T Eadi/The permissible tolerances are given on the hole and
the shaft
(d) q;uﬁ' ®q F & edeg f&am SATar g/Allowance is given only on the whole

U ATShI-3T & He gIdT §/The value of one micro-inch is

(@ 0.000001” (b) 0.00001”
(c) 0.0001” (d) 0.001”

fAafaf@a & O yarda & SR gifetar JMN &7 TeleT HiT-AT §/Which one of the following is

the movement of the honing machine during operation?

(a) &Yfasi/Horizontal

(b) FEATER/Vertical

(c) W/Reciprocating

(d) FeaTR UF YA/ Vertical and reciprocating

fFfaf@aa & @ after o & fav ERC] 3TEYUT HIA-TT §/Which one of the following

abrasives is used for lapping gauges?

(@) ATATATH 3fTFATSS/Aluminium Oxide (b)  TAfelhaT TaTS3/Silicon Carbide

S

(c) BRI/Diamond (d) aRiT mﬁ%g/Boron Carbide
TH— &Y Id &/Brass is an alloy of

(@) R TG f&1/Copper and Tin (b) o8 Td fea/Lead and Tin

(c) IR g foieh/Copper and Zinc (d) AR vd fAea/Copper and Silver

STE g & TeTTa & el faarer & 9 3w i aRafda avet fr erear Aeafaf@a

UTErE & HlA-I T # & /Which one of the following properties of a metal has the ability to
change its shape without destruction under the influence of external forces

(a) TolTTEcehdl/Plasticity (b)  UIATEUT/Elasticity
() GmFIdl/Stiffness (d)  3TETdaEddr/Malleability
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50.

o1,

52.

53.

54.

55.

56.

mmw#mmﬁmm?amﬁwm%lm—%m

&/The toughness in a steel is increased and brittleness is decreased by a heat treatment operation

called as
(a) W/Annealing (b) Fﬁﬁﬂ'lgfﬁ?T/Normalizing
(c) <9 iiJI/Tempering (d)  HH BTSN/ Case hardening

vguaey fAfoT e aeroyar — [HGL %/Approximate hardness of HSS milling cutter is

(@ 45 HRC (b) 52 HRC
(c) 62 HRC (d) 75 HRC

mﬁﬁmg%%&wwﬁﬁﬁ%mﬁmﬁ@aﬁﬁnmywmch one of the

following quenching media is used for hardening HSS tool?

(@) STel/Water : (b) T faeI=7/Brine Solution
(c) daI/0il ' (d) IS8T Tel/Soda Water

mm*aﬁ,H@mmm%mm\m%/Aﬁerhardening

process, the metal becomes more hardened and also will become more

(a) Si?B/Brittle (b) ded/Ductile
(c) JATaTAgEA/Malleable (d) qea/ Tough

e Aeer F1F Faar Ao et AT & S/Sheet metal work is carried out only on metal sheets,

which are

(a) W8 %/forged (b) qa& &/cast
(c) @Ie &/rolled (d) Sfgafea ¥extruded

Al — T §31T &/Mallet is made of

(a) oS/Lead (b)  STH/Brass
(©) &S g8/Hard wood (d)  @TEC 31AT/Cast Iron

des o & farw 98 T Feyfa HleT-TT §/The position in which it is easiest to weld is

(@) HHJ/Flat (b) FUTTUR/ Vertical
(c) &fAs/Horizontal (d) 398/Overhead

11 685 TN(FIT)



57.

58.

59,

60.

61.

62.

63.

0.03x + 0.02 = 0.02x — 0.06; Al/then x =

(@ 0.08 (b) -8
(cp 0.8 @ -0.8

40mm & SY STaTS F U FEHT 16mm H T FIAT ¢ fviaT & TS % ¢&/A spring of 40mm

free length is compressed to 16mm. Find the compression of the spring in %

@ 20% by  40%
() 60% d 6%

800 x 1400 mm & Ueh ST TolC 1:20 ¥ Thet 3 IR FIAT &, AT IRWOT Y F1SdT F1
ZI9T/A steel plate of 800 x 1400 mm is to be drawn to a scale of 1:20. What will be the lengths in

the drawing?

(@) 4mm;7mm (b) 70mm;40mm
(c) 40mm;70mm (d) 7mm;4mm

&Y TRl i 20 gﬁ%mﬁﬁ%ﬁ#ﬁtf?ﬁﬁﬁ?rmw%l B TR T 30 Tof eI A &
T fFde ©eT 3T92T g/Two turners need three days to produce 20 pieces. How long does it

take for six turner to produce 30 such pieces?

@@ 15 b 2
© 1 d 4

wmaﬁém@raﬁé%mcmm%aﬂwmﬁmﬂaéocm%l T § AiSrS ¢é/The

width of a rectangle is 10 cm less than its length, and its perimeter is 60 cm. Find the width of the
rectangle.

(@ 10cm () 15cm

(c) 20cm (d) 5 cm

T IS & A 792/7cce %’I er & BT —— ?i?’fllf the volume of a sphere is
792/7cc. The radius of the sphere will be

(@ 9cm (by 3cm

(c) 6cm (d) 9/7 cm

&7 FAE fAwA dEat 1 I ——— g1, e A 15 &/The product of three
consecutive odd numbers whose sum is 15

(@ 120 (by 150

) 125 (d) 105
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64.

65.

66.

67.

68.

69.

150mm T8 & TS Tefr 1440rpm H Afeld Teh HIEX AFE H FAMA AT g1 2400rpm
# afod s g & & gaea g??fa:' gy AUTRa /A pulley of 150mm

diameter mounted on to a motor shaft runs at 1440 rpm. Determine the diameter of the pulley
connected to a grinding wheel which runs at 2400 rpm

(@ 200 mm (b) 45 mm
(c) 180 mm (d 90 mm

Sin%0 + Cos’0 & e 2/The value of Sin®0 + Cos®0 is

@@ o (b)  Sin*20
() -1 : @ 1

SI '«’Slj?!?: Had & Hrqp‘r & qj?-l'c? £/The unit of moment of force in SI unit is

(@) gcd HreI/Newton metre (b) Kgm
(c) Kfgm (d) (e TEHTT/Newton centimetre

g $r gusrar Hr aRemT §/The density of a body is defined as

(@) IfAe AT W Fel/Force per unit volume

(b) qﬁf I IR I AT/ Mass per unit volume
(c) EI;%E 3T AT 9T &Td/Pressure per unit volume
(d) Ilﬁﬁ' AT U cdi0T/Acceleration per unit volume

T T AN A Tif¥F arer Hr gRATT §/The mechanical advantage in a simple machine is

defined as

(a) STE/effort/dTs/load

(b) FRY/work/SaTd/effort

(c) dT8/load/SraTH/effort

(d) 9ITHSaRT gferd qﬂ’/ distance moved by effort

mgﬁgﬁm a9 —— & TATA g/The atmosphere pressure is equal to
(@ 1bar () 10 Kgf/em®

(c) 981N (d) 100 N
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70. T — & gRadsl Fr T §/Velocity is the rate of change of

71.

72.

73.

74.

5.

(a) dol/force (b) ﬁT?ﬂ'qFf/Displacement
(c) AT/ Viscosity (d) cd{UT/acceleration

afe R B & g7 v A @ & PRaR yarfed Far § ar 391 FH1eT SRT §/If chip is

flowing out continuously through one lip only during drilling, the possible reason is:

(a) 3THHAT TIT FI0T/Unequal lip angle
OREIGLIE %@W/Excessive point angle

() 3TTHATA FollI=H hIvT/Unequal clearance angle

(d) A PIOT FT FIAT arel arg * 3eT®T o gl/Cutting angle is not according to the metal
being drilled.

ITCIATRIA F1E A &g ©12mm 3T A & gEu1d 3T & HRATTH 0T &, el fAfATH &
fT Fate afad 50m/min g/Calculate the RPM for a high speed steel drill ®12mm to cut

Aluminium. The cutting speed for Aluminium is 50m/min.

(@ 332 rpm (b) 4163 rpm

(c) 1326 rpm (d) 663 rpm

Agersiea th —— UfehaT §/Nitriding is a process of

(@) >SHT 3UUR/Heat treatment (b)  37eNfeiaT/Annealing

(c) E'I'ss'ﬁﬁT/Hardening d T gTfa9T/Case hardening

Sin 60° & F4 &/The value of Sin 60° is

(@ 0.707 (b)y  0.866

() 05 @ 0

I x =0 & y =52 AT X>+2xy+y* & AT E}:é'/lfx =0 & y = 5/2, Find the value of x*+2xy+y*

(a) 45/4 (b)y 2572
() 25/4 @ 10
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